
 Øi.38 

S.S. Muffler
P/N 3015266410

Allen Screw
M8x20
P/N 200722

Allen Screw
M8x30
P/N 202491

2x Flange Nut M8
P/N 200298

Alu Spacer
Øe.22 Øi.8.5 h.11
P/N 205090

Alu Spacer
Øe.25 Øi.8,5 h.9
P/N 206366

S.S. Black Clamp Ø41
P/N 300041540

Carbon Bracket
P/N 088234001

2x Mounting Plate M5
P/N 204555

4x Gasket
Øe.14 Øi.4,9 h.1,5
P/N 200371

Carbon Heat Shield
P/N 0815266001

2x Washer
Øe.15 Øi.5
P/N 406580

2x Screw
M5x12
P/N 201031

E57  92R-02 0017

 
10

4 

ART. 15266FB

DUCATI SCRAMBLER 800 ICON/NIGHTSHIFT/FULL THROTTLE 
(also fits 35kW version)

SLIP ON   LV-10   FULL BLACK   APPROVED


	DT-15266FB
	Vista del disegno7
	Vista del disegno8


